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	3
	(introduction-body – conclusion ) are the three parts of :
1-novel
2-article
3-Essay

	1
	Several paragraphs long talks about one topic ;
1-essay
2-novel
3-play

	3
	If you can write a good paragraph ,you can write a good ……..
1-play
2-poetry
3-essay

	1
	The first paragraph of an essay . called ;
1-the introduction
2-the main body
3-the conclusion 

	1
	The part which explain the topic with general ideas and also has a thesis statement , called ;
1-introduction 
2-the maine body 
3- the conclusion

	2
	The paragraphs that explain and support the thesis statement are called;
1-introduction
2-main body 
3-conclusion 

	3
	The part of essay which come between the introduction and the conclusion , named;
1-conclusion
2-introduction
3-main body

	2
	There must be only one paragraph in the main body of the essay;
1-true
2-fals

	2
	It is the last paragraph of an essay;
1-introduction
2-conclusion
3-main body

	3
	The part of an essay which summarizes  the thesis and supporting ideas of the essay ,called;
1-introduction
2-main idea
3-conclusion

	2
	The one paragraph can discuss ………..from the beginning to the end .
1-only two main ideas 
2-only one main idea 
2-more than 2 main ideas

	3
	An essay has ………just as a paragraph does.
1-title
2-conclusion
3-unity and coherence .

	3
	One of the ways to achieve coherence in the essay is ;
1-mintion the writer name more than once 
2-focus on the facts.
3-repeated key words.

	2
	The other way to achieve coherence in essay is ;
1-focus on the facts .
2-transition signals 
3-mintion the writer name .

	2
	We can use these transition signals ((in addition, furthermore, moreover, besides, also, too, and.)) to ;
1-introduce an opposite idea or contrast.
2-introduce an additional idea .
3-introduce a choice or alternative .

	1
	We can use these transition signals(( on the other hand, in contrast, however, nevertheless, instead, still, and nonetheless, but, yet, although, while, whereas, though, even though.)) to;
1- introduce an opposite idea or contrast
2-introduce a restatement or explanation 
3-introduce an example . 

	3
	We can use these transition signals((otherwise, or, if, unless)) to :
1-introduce an example
2-to list an order 
3-introduce a choice or alternative .

	2
	We can use these transition signals((in fact, indeed, that is)) to ;
1--introduce a choice or alternative
2-introduce a restatement or explanation

	1
	We can use these transition signals((first, second, third, next, last, finally, the first, second, the next, last, final…))to ;
1-list in order 
2-introduce an example
2-introduce a result 

	3
	We can use these transition signals((for example, for instance)) to ;
1-list in order 
2-introduce a result
3-introduce an example

	3
	We can use these transition signals((clearly, in brief, in conclusion, indeed, in short, in summary)) to ;
1-list in order
2-introduce a result 
3-introduce a conclusion or summary.

	2
	· We can use these transition signals((accordingly, as a result, as a consequent, therefore, consequently, hence, thus, so 
(( to:
1-introduce an example
2-introduce a result 
3-list in order

	2
	The topic sentence is ………the first sentence in every paragraph .
1-necessary
2-not necessary
3-don't exist

	3
	……….is introduce the general topic of the essay .
1-conclusion
2-thesis statement 
3-general statement 

	2
	The general statement ;
1-states the specific topic
2-capture the reader's interest 
3-introduce the writer 

	3
	………….is states the specific topic .
1-the conclusion 
2- general statements
3-thesis statement

	1
	……may list subtopics or subdivision of the main topics .
1-thesis statement
2-the introduction
3-general statement

	2
	……. may indicate the pattern of organization of the essay.
1-the introduction
2-thesis statement
3-general statement

	1
	…….is normally the last sentence in the introductory paragraph.
1-thesis statement
2-the conclusion
3-general statement

	3
	……is the sentence that tells the main idea of the whole essay .
1-introduction 
2- general statement 
3-thesis statement

	1
	………usually comes at or near the end of the introductory paragraph .
1-thesis statement 
2-the conclusion
3-the general statement 



	2
	The body paragraph in an essay is like the ……in a paragraph .
1-main sentences.
2-supporting sentences
3-not important sentences

	1
	……..is an appropriate pattern for explaining causes ,reasons .types.
1-logical division 
2-illogical division 
3- random division

	3
	……..(both ,and ,not only…)are effective way especially to list two subjects .
1-thesis statement 
2- logical division
3-paired conjunctions

	2
	a…..is often useful before lists of two , three , or more subtopics in a thesis statement.
1-logical division
2-colon
3-parallelism

	1
	……..is an important element in English writing ,especially when you are listing and comparing items or idea's;
1- parallelism
2-colon
3-paired conjunction

	2
	………means that each item in a list or comparison follows the same grammatical pattern .
1- colon
2- parallelism
3-paired conjunction

	1
	……. Are placed directly before the elements that join in the sentence .
1-paired conjunctions.
2-colon
3-logical division

	3
	One of the most common problems in writing essay witch must be avoided ;
1-the thesis is so specific 
2-the essay is too short
3-the thesis is too general 

	3
	Linking paragraphs with ……… helps your reader see how the subtopics are related.
1-one word
2-two words 
3-transition signals



	2
	The ………. Is your last chance to make your point clear .
1-introduction
2-conclusion
3-thesis

	3
	The concluding paragraph should be introduce with a conclusion transition signals, like ….
1-and , or , but ..
2-in fact . actually ,….
3-in conclusion , in summary , in brief , in short , indeed ..

	1
	The ……..should follow logically from the body of the essay .
1-conclusion 
2-introduction
3-thesis statement 

	3
	The ……must summarize the whole essay , not just one or two major points .
1-the main body
2-the thesis statement 
3- the conclusion

	2
	The conclusion ………..raise any new points.
1-should 
2-should not
3-allow 

	3
	Make a prediction is one way to make the conclusion ;
1- weak
2-bad
3-stronger and memorable.

	2
	Suggest a solution or call for action are techniques that can make the conclusion ;
1-unuseful
2-memorable
3-weak

	3
	An …….is a general plan of what you are going to write .
1- conclusion
2-thesis
3-outline

	1
	An ……will help make your essay more organized .
1-outline
2-thesis
3-conclusion

	2
	The topic sentence for each body paragraph should support the……
1-conclusion
2-thesis statement 
3- introduction



4
	3
	…….is one of 4 types of introduction .
1-conjunction signals .
2-very long paragraph
3- funnel introduction .

	2
	Dramatic , interesting or funny story is one of the 4 types of …….
1-conclusion
2-introduction
3-the main body 

	3
	a…..is one type of introduction .
1-short conclusion
2-information about the writer
3-historical background



	3
	………is a description of a procedure a step by step analysis and explanation a process.
1-novel
2-conclusion essay
3-a process essay 

	2
	To write an essay it's better to use ………
1-third person
2-first person
3-second person

	3
	In process essay we must be sure to use ……to tie steps together .
1-fullstop
2-question mark
3-transitions

	1
	Most of the transitions will refere to ……..
1-time
2-people
3-places

	3
	A body paragraph should have a minimum of ……….sentences.
1-one
2- two
3-five

	3
	The thesis statement of the essay must be the …….sentence in the introductory paragraph .
1-first
2-second
3-last

	2
	Using these expressions (( I think , I feel , in my opinion )) in the essay is good ;
1-true 
2- fals



	3
	a………essay provides reasons and explanations for events , conditions or behaviors .
1-romance
2-scince fiction
3-cause and effect

	1
	Cause and effect analyzes…………something happens .
1-why
2-how
3-when

	2
	There are two ways to organize a cause and effect essay ………….organization .
1-first and second
2-block and chain
3-good and bad 



	3
	Usually there are……..reason for the situation.
1-only one
2-exactly two
3-more than one

	1
	When there are many reasons , usually……..important.
1-there is one that most
2-all of the reasons are
3-all the reasons are not 

	3
	Both because and as can be used …………….
1-only at the end of the sentence
2-at the middle of the sentence or at the end
3-at the beginning of the sentence or in the middle 

	1
	In……….organization , you discuss all of the causes in one block
1-block
2-chain 

	2
	((the first reason is , the next cause , because))called;
1-effect structure word
2-cause structure word
3-effect and structure word

	1
	((the first effect , as a result , consequently)) called;'
1-effect structure word
2-cause structure word
3-effect and structure word

	3
	We use the transition paragraph;
1-to begin the block organization
2-to begin the chain organization
3-to conclude one section and introduce another section

	2
	a……….organization , you discuss a first cause and then the effect, a second cause and it's effect, a third cause and it's effect, and so on.
1-block
2-chain



	2
	We can compare similarities and contrast differences in…………
1-cause and effect essay
2-comparison and contrast essay

	3
	The body of comparison\contrast essay can be organized in;
1-point by point organization only
2-block organization only
3-(point by point \block)organization 

	1
	For both types of organization the introduction is ;
1-the same
2-longer in block organization than the point by point .
3-longer in point by point organization than the block.

	3
	A comparison and contrast essay……….clear introduction and conclusion.
1-can't have
2-may or may not have
3-must have

	1
	In a point by point organization a ………..one body paragraph will explain the similarities between the two subjects and one paragraph will explain the differences.
1-short essay
2-long essay
3-caues and effect essay

	2
	In a point by point organization a …………..one paragraph will explain similarities between one main idea in the two subjects and one paragraph will deal with differences in the same main idea, and so on.
1-short essay
2-longer essay
3-caues and effect essay

	2
	a………….in a point by point organization contains of((introduction-similarities –differences-conclusion))
1-longer essay organization
2-short essay organization

	1
	a……………in a point by point organization contains of((introduction – similarity 1-difference 1-similarity 2-difference2-conclusion))
1-longer essay organization
2-short essay organization

	1
	In a………… organization, the body paragraphs first present the similarities in the two subjects. Then, in separate paragraphs, the differences are presented.
1-block
2-point by point

	2
	In block  organization , For the short essay, the organization is ………… to Point by Point Organization.
1-different
2-similar

	2
	For the longer essay, the body paragraphs first present the similarities as a set then, after a ………..,  present the differences as a separate set.
1-introduction
2-transition
3-conclusion

	3
	((Introduction- Similarity1- Similarity2- Transition- Difference1- Difference2- Conclusion)) is a………
1-point by point long essay organization
2-point by point short essay
3-block long essay organization

	3
	For both types of comparison and contrast essay the ………..must contains ; - Restate the topic
- Restate or summarize the similarities and differences between the two topics
- Give your opinion or feeling about the topic make a prediction, or explain the results
1-introduction
2-transition
3-conclusion



	3
	……………are the building blocks of sentence.
1-punctuations
2-words
3-clauses

	2
	a…………is a group of words that contains (at least )a subject and verb.
1-letters
2-clause
3-punctuation

	3
	The two kinds of clause are;
1-short and long
2-happy and sad
3- Independent & Dependent

	2
	An……..clause contains a subject and a verb and express a complete thought.
1-full
2-independent
3-dependent

	3
	a……….clause is formed with a subject and verb and often a complement.
1-essay
2-dependent
3-independent

	3
	a……….clause begins with a subordinator such as when , while ,if , that or who.
1-independent
2-full
3-dependent

	1
	a………….clause does not express a complete thought , so it's not a sentence by itself.
1-dependent 
2-independent
3-full

	2
	……….clause is also called a sentence fragment .
1-independent 
2-dependent
3-full

	3
	………….clause is formed with a subordinator, a subject and a verb .
1-independent
2-full
3-dependent

	1
	a……sentence has one independent clause .
1-simple
2-compound
3-complex

	2
	a…………sentence contains two independent clauses that are joined together.
1-simple
2-compound
3-complex

	2
	((independent clause + coordinating conjunction +independent clause)) makes;
1-simple sentence
2-compound sentence
3- complex sentence

	3
	((independent clause +a semicolon +independent clause )) makes:
1-simple sentence
2-complex sentence
3-compound sentence

	2
	FANBOYS for , and ,nor ,but ,or ,yet ,so :::these are;
1-semicolon
2-coordination conjunctions
3-transition

	2
	Use a ……….only when the coordinating  conjunction joins two independent clauses .
1-fullstop
2-comma
3-semicolon



	3
	a………sentence contains at least one independent clause and one dependent clause.
1-simple
2-compound
3-complex

	1
	Use a………after a dependent clause if it begins the sentence.
1-comma
2-semicolon
3-fullstop

	1
	If the clause tells us about where , when , why and how .it is …..clause.
1-adverb
2-adjective
3-noun

	2
	An………clause begins with a subordinator , such as when , while ,because ,although, if , so ,    or    ,that.
1-adjective
2-adverb
3-noun

	1
	Although women in the united states could own property, they could not vote until1920.     The first clause is;
1-dependent adverb clause
2-dependent adjective clause
3-dependent noun clause

	1
	…………clause describes a noun or pronoun.
1-adjective
2-adverb
	n	3-nou

	3
	……….clause begin with a relative pronoun ,such as who , whom , which, whose  or  that .
1-adverb
2-noun
3-adjective

	2
	Men who are not married are called bachelors.   The first clause is;
1-dependent adverb clause
2-dependent adjective clause
3-dependent noun clause

	2
	a………..clause begins with a wh-question word , that ,whether ,and sometimes if .
1-adverb
2-noun
	e	3-adjectiv

	3
	a……..clause can be either the subject or an object of the independent clause .
1-adjective
2-adverb
3-noun

	3
	Scientists know what caused it.      The second clause is;
1-dependent adverb clause
2-dependent adjective clause
3-dependent noun clause

	3
	…………{ All the conjunctive adverbs ,except (( as well – too ))}…………
1-semicolon-fullstop
2-comma-Q mark
3-semicolon - comma

	2
	As well  ,  too  )) comes at the ………of the clause.
1-middle
2-end
3-beginning
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